- Choose the correct topic
sentence for the following
text.

These cats live in the
rainforest. As the rainforest
is destroyed, they lose their
hunting ground. These cats
have survived for over

two million years, but this

may change.

a. Big cats are among
the world's most
amazing creatures.

b. Jaguars are v
losing their
habitat.

c. Humans are a
major threat to
tigers.

Your answer is correct.

The correct answer is:
Jaguars are losing their
habitat.
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- Choose the correct
answer.

- Luckily, animals cannot
give the to

humans.

a. habitat

b. disease v

Your answer IS correct.

The correct answer is:

disease
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- Join the sentences
using the words in
brackets. Take out the
repeated words and make
any other necessary
changes.

-Note: write the answers
in the box below. Pay
attention to punctuation.

1. The polar bear is not a
sociable animal. The koala
bear is not a sociable
animal. (neither, nor)

2. The dolphin breathes
through its blowhole. The
dolphin eats through its
mouth. (and)

3. Seals, sea lions, and
walruses come onto dry
land. Manatees do not

STUDENTS-HUB.COMeome onto dry land. (but)’
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mouth. (and)

3. Seals, sea lions, and
walruses come onto dry
land. Manatees do not

come onto dry land. (but)

Neither the polar bear nor
the koala bear is sociable.

2_The dolphin breathes
through its blowhole and
eats through it's mouth.

3_Seals,sea lions, and
walruses come onto dry
land ,but manatees do not.

Comment:
—-is a sociable animal.

—-"“its “not it's dear.
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- Complete the sentence
with the comparative form
of the adjective in brackets.

- The Mongolian wild horse
IS

more beautiful

% the domestic
horse. (beautiful)

The correct answer is:
more beautiful than
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- Choose the correct topic
sentence for the following
text.

People hunt them for their
skin and bones. They use
their body parts to make
medicine. Due to these
practices, three subspecies
of these big cats have
become extinct in the past
80 years. Other subspecies
are endangered.

a. Humansarea «
major threat to
tigers.

b. Jaguars are losing
their habitat

c. Big cats are among
the world's most
amazing creatures.

Your answer is correct.

The correct answer is:

Humans are a major threat
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- Put the words in the
correct order to make
sentences. Pay attention to
punctuation and
capitalization.

Note : number your
sentences from 1 to 3 and

write your answers in the
box below.

1. them / forests /
However, / we / by
protecting / can help /.

2. an endangered animal /
Thered panda/is /.

3. The red panda / in the
Himalayas / lives / .
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Hlmalayas / lives / .

1- However,we can help
them by protecting
forests.

2- The red pandais an
endangered animal.

3_The rad panda lives in the
himalayas.

Comment:
—Please pay attention to
capitalization "Himalayas”.
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- Circle the correct answer.

- The kangaroo is very
in Australia

— there are more kangaroos
than people!

a. common«+

b. endangered

Your answer Is correct.

The correct answer is:
common
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- Complete the sentence
with the comparative form
of the adjective in brackets.

- The whale shark is
heavier than

« the tiger shark. It can
weigh over 18 tonnes!
(heavy)

The correct answer is:
heavier than

STUDENTS-HUB.com Uploaded By: anonymous



- Complete the sentence
with the comparative form
of the adjective in brackets.

- The Mongolian wild
horse's legs are

Shorter than

« a domestic horse's
legs. (short)

The correct answer is:
shorter than

STUDENTS-HUB.com Uploaded By:janonymous
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- Choose the correct
answer.

- The destruction of many
parts of the Amazon is
mainly people

clearing forest for farming.

a. duetov

b. so that

Your answer IS correct.

The correct answer is: due

1o
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- Complete the sentences
with the correct form of the
words in brackets.

** Reading books with your
children can help develop
their

communication

v skills. (communicate)

The correct answer is:

a communicative ‘
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- Complete the sentences
with the correct form of the
words in brackets.

** These cats all have homes
now, but were

abandoned

« because their owners
could not pay for food.

(abandon)

The correct answer is:
abandoned
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- Complete the sentences
with the correct form of the
words in brackets.

** We shouldn't give our
opinions without giving good
reasons for them. We need to
think

analytically

v . (analyze)

The correct answer is:

analytically .
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- Complete the sentences
with the correct form of the
words in brackets.

** The main goal of the
ASPCA® is the

protection

v of animals. (protect)

Note that (ASPCA®) stands
for "American Society for the

Prevention of Cruelty to
Animals”

The correct answer is:

’ protection
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Complete the sentences
with have to or should.

** [n our country you
go to

school until you're 16.

a. haveto v

b. should

Your answer IS correct.

The correct answer is: have
1{0)
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Complete the sentences
with have to or should.

** I'm studying this evening
because |
take a

test tomorrow.

a. should

b. haveto v

Your answer IS correct.

’ The correct answer is: have
to

| |
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Complete the sentences
with have to or should.

** What do you think we

do this
evening? Do you have any
suggestions?

a. should v

b. haveto

Your answer IS correct.

The correct answer is: should



Complete the sentences
with have to or should.

**| don't think you
work

so hard. You need some time
with your family.

a. haveto

b. should v

Your answer IS correct.

The correct answer is: should

A
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- Choose the correct
contrasting idea.

** | thought that he would be
upset about losing his job.

a. Butlast week | was
offered a job in
another country.

b. Onthecontrary, «
I've never seen
him so happy.

Your answer IS correct.

The correct answer is: On the
contrary, I've never seen him
so happy.
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- Choose the correct
contrasting idea.

** Some people don't agree
with the report.

a. Yet,itincludes v
some very good
ideas.

b. On the contrary, she
enjoyed it very much.

Your answer IS correct.

The correct answer is: Yet, it

includes some very good ‘

ideas.
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- Read the sentences below and identify the contrasting transition word.
Write it in the space (with the suitable punctuation and capitalization).

**| would like to learn to play the piano. However, | simply don't have enough
time.

Answer: the contrasting word is (.However,). X

The correct answer is: . However,
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- Correct the nouns in bold

by writing the correct verb

form.

1 We need a campaign
to encouragement

ancourage

% people to exercise more.

' The correct answer is: '
encourage
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2 Governments must pose
laws so that companies
would reduction

reduce

v the amount of sugar in
their foods.

The correct answer is: reduce
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3 In some countries,

governments tend
to promotion

promote v
good health by having
restaurants show

nutritional information on
their food menus.

’ The correct answer is:
promote
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4 People these days do not
want laws that restrict their
food choices. They believe
that they can protection

protect v

themselves.

The correct answer is:
protect
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5 Some individuals do
not recognition

recognize

« just how unhealthy food
at restaurants and in
supermarkets is.

The correct answer is:
' recognize ‘
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Write the verb or noun form
of the word.

1. Advertisement (n)

Advertise .

x (V)

The correct answer is:
advertise
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2. Ban (n)

Ban. b 4

(v)

% The correct answer is: ban q
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3.

Encouragement .

% (n) encourage (V)

The correct answer is:

% Encourage

Question 9

q
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4.

Promotion.

x (n) promote (v)

The correct answer is:
promotion

>
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5. Protection (n)

Protect .

x (V)

The correct answer is:
protect

STUDENTS-HUB.com Uploaded By: anonymous



Complete the sentence using
to/ so.

Just write the specific
answer.

Elderly people need to do
some light exercise daily

to V4

keep their bodies strong.

The correct answer is: to

BE

NTS-HUB.com Uploaded By: anony



Choose the correct word to
complete the sentence.

- A typical sumo wrestler eats
a daily diet of 20,000

, Which is
striking when you consider
that the recommended daily
intake for a healthy, active
male is 2,500.

Select one:

a. self-esteem
b. portion

c. calories v

Your answer is correct.

The correct answer is:

calories
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Complete the sentence with
the correct word.

-We must that we

have to make healthy foods
available to everyone. We have to
change both our exercise and
eating habits if we want to be
healthy.

Select one;

a. reduce
b. recognize v

C. active

Your answer is correct.

The correct answer is:
recognize
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* Use the words in capitals to
form a new word that fits into
each blank.

- You must
your account before you can
write posts. (ACTIVE)

Select one:

a. activity

b. activating

Cc. activate v

Your answer IS correct.

The correct answer is:

activate
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Complete the sentence with
one of the words below to
form a collocation.

{diet life nutritional
physical serious }

- When | am stressed out, |
try my best to do some kind
of activity. It
makes me feel better.

Do not rewrite the sentence.
Just write the specific
answer.

Answer:

% physical q
The correct answer is:

E!:.)hysic:al
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Complete the sentence with
the correct form of the word
In brackets.

- This high carrying capacity
has worked in several ways

tO0 reduce v

the cost of transportation.
[reduction]

The correct answer is: reduce c
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Complete the text with the

suitable words.

« How much
ctivity ¢ |« do

you do in a week? Are you
getting enough? Did you

s |V
that adults who

s+ |v for
just 150 minutes a week
can | reduce =

« their risk of

50%. .
A\
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Find the linking expression in
the following sentence.

- Although some say running
IS good for your health,
others say it's not good for
your knees.

Do not rewrite the sentence.
Just write the specific
answer.

Answer:

Although v

The correct answer is: .
lthough
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Choose the correct answer to
form a collocation.

-The women featured in the
article are reducing their risk
of chronic disease by
exercising and by having

a balanced

Select one:

a. food

b. diet v

c. value

Your answer IS correct.

The correct answer is: diet
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- Complete the sentence with
one of the words below.

{reduce moderate self-
esteem active}

- Write the specific answer.

My grandfather does
active ®

exercise every morning,
which is why he is strong and
healthy.

= N\
The correct answer is: .
moderate
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Decide whether the following
argument is for or against.

Essay topic: Television is

having a hegative impact on

children.

Argument: Children are less
healthy because they spend
less time playing outside.

Select one:
a. against
b. forv

B ! c
Your answer IS correct.
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Find the linking expression
in the following sentence.

- The engineers claimed that
the bridge was safe; however,
they were still not prepared to
risk crossing.

Do not rewrite the sentence.
Just write the specific
answer.

Answer:

% ‘however, b4 q

The correct answer is:

however
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Complete the sentence with
the correct noun form of the
verb in brackets.

- Many governments around
the world imposed a
on junk food .

[ban]

Do not rewrite the sentence.
Just write the specific
answer.

Answer:

The correct answer is: ban
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Complete the following
sentence with the correct
word.

- A number of advertising
have been

successful on the internet
andon TV.

Select one;

a. adverts
b. food

C. campaigns v

Your answer is correct.

The correct answer is:
campaigns
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Choose the correct word to
complete the sentence.

- The city has created

educational to
encourage people to be more

active.

Select one:

a. programmes v
b. campaign

c. food

Your answer IS correct.

The correct answer is:

programmes
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Complete the sentence using
in order to / so that.

- Just write the specific
answer.

- High schools should teach
students basic nutrition

so that v

they can make healthy
choices when they live on
their own.

The correct answer is: so that
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Choose the correct answer.

- Schools ought to teach
cooking classes _

Select one:

a. sothat students
can learn about
nutrition.

b. isthe first step to
better nutrition.

c. we'll eat a more
balanced diet.

Your answer is correct.
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Reading Comprehension

Read an article about “The
future of energy” and answer
the questions that follow.

1. Our planet is getting

warmer and it is generally

agreed that this is caused by

the high levels of greenhouse

gases, such as carbon

dioxide (COy), in the

atmosphere. These gases are

created when we burn fossil

fuels for energy. However,

there are renewable sources

of energy, which are better for

the environment than fossil

fuels. Two of the major ‘
alternative sources of energy

are solar and hydroelectric.
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the environment than fossil
fuels. Two of the major
alternative sources of energy
are solar and hydroelectric.
More of our power needs to
come from these energy
sources if we are to reduce
the speed of global warming.

2. Many countries, such as
those in the Middle East, not
only have plenty of oil but
also plenty of sun. This
sunshine, together with a lot
of unused desert land, means
that they are the ideal
locations to build solar power
plants. A power plant is any
building where electricity is
produced. And indeed, one of

B the largest solar power plants
in the world is the Shams 1
plant in Abu Dhabi. The plant
consists of over 258,000

mirrors, covering an area
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football pitches. The solar
plant works by using the
mirrors to focus heat onto
pipes. These pipes are filled
with a special type of oil. The
heated oil is then used to
produce steam, which drives
the turbines, special
machines that change
mechanical energy into
electrical energy. This
process is just like what
happens in a traditional
electricity generating plant.
The energy from this plant is
enough to power over 20,000
homes. To produce this much
power from fossil fuels,
around 160,000 tonnes of

CO, would be pumped into
the air every year.
3. A country like Canada

does not have as much sun,

but it does have a lot of
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3. A country like Canada
does not have as much sun,
but it does have a lot of
water. Nearly 60% of
Canada's electricity comes
from hydroelectric power. It is
one of the few countries
which generates most of its
power from renewable
sources. One of the most
important hydroelectric
power stations is on the
Niagara River, near the world-
famous Niagara Falls.
Between 50% and 75% of the
water from the river goes
through four huge tunnels
before the waterfalls. This
water then passes through
special turbines which

% provide energy to nearby
areas of Canada and the
United States. Once the water
has passed through the
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provide energy to nearby
areas of Canada and the
United States. Once the water
has passed through the
turbines, it is then returned to
the river.

4. There is great opportunity
for countries to produce solar
energy, and many countries,
like Canada, have significant
amounts of water which can
be used to generate
electricity. The important
qguestion is 'Will we use these
alternative sources of energy
instead of burning the fossil
fuels which threaten our
planet?' If our environment is

% to survive, then we need to q

act now. More power needs .
\

to come from renewable
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* What is a power plant
according to the article?

A power plant is any building w

v

Please Write the specific
answer in the space .

The correct answer is: A
power plant is any building

where electricity is produced d
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- How did the author help
you understand the meaning
of this collocation? What
context clue did the author
use?

Please Write the specific
answer in the space .

Answer:

The definition and exanmr ¥

The correct answer is:
Definition
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- Many countries in the
Middle East are idyllic sites to
build solar power plants.

True v

False

The correct answer is True'.

STUDENTS-HUB.com Uploaded By: anonymous



- In paragraph 1, line 1, the
pronoun this refers

Please Write the specific
answer in the space.

Answer:

Our planet is gettingwa «

The correct answer is: the
fact that our planet is getting
warmer
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- The author concludes the
article by recommending that
we need to rely on power that
comes from non-renewable
sources.

True

False v

The correct answer is 'False'.
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- Go back to (Para. 4) and
find a linking word or phrase
that the author used to
exemplify (to give an
example).

Like

v

Please Write the specific
answer in the space .

B The correct answer is: like d
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-According to the text,
turbines are:

turbines are :special machines

v

Please Write the specific

d

nswer in the space (the

meaning of the word) .

T
S

he correct answer is:
necial machines that

C

into electrical energy

nange mechanical energy
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- Almost, 16% of Canada's
electricity comes from
hydroelectric power.

True

False v

The correct answer is 'False'.
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**Match the causes to the
effects based on the article.

1 Thereis a

lot of
greenhouse
gasinthe ¢
atmosphere.

2 Sun shines
on mirrors at
the power
plant.

v

3 The sun
heats up the
special oil in
the pipes.

v

4 The steam

bines. v
5 We use .

renewable

energy
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